172345 6738 90 12345 673890
lebanese cedar C TG TAGTCA T lebanese cedar C TG T AGTCA T
The following is a worked-out example of counting parsimony westernredcedlr ACATAGGCCT westernredcedlr ACATAGGCCT
from problem #5 in the in-class exercise. alpinefir CCGTCGTCAT alpinefir CCGTCGTCAT
giant sequoia ACATATGCCT giantsequoia ACATATGCCT
douglasfir C TGTCGTCAG douglasfir CTGTCGTCAG
[ lebanese cedar alpine fir [ lebanese cedar alpine fir
T wred cedar Iebanese cedar —h wred cedar Iebanese cedar
2. 1 2.
giant sequoia douglas fir 1 giant sequoia douglas fir
douglas fir giant sequoia douglas fir giant sequoia
alpine fir w red cedar alpine fir w red cedar
T23 45 678 90 72345 678 90 T23 435 678 90
lebanese cedar C TG T AGTCA T lebanese cedar C TG TAGTCA T lebanese cedar C T G TAGTCA T
westernredcedlr ACATAGGCCT westernredcedr ACATAGGCCT westernredcedr ACATAGGCCT
alpinefir CCGTCGTCAT alpinefir CCGTCGTCAT alpinefir CCGTCGTCAT
giantsequoia ACATATGCCT giant sequoia ACATATGCCT giant sequoia ACATATGCCT
douglasfir CTGTCGTCAG douglasfir CTGTCGTCAG douglas fir CTGTCGTCAG
2 lebanese cedar alpine fir 2 lebanese cedar alpine fir 2 lebanese cedar 5 alpine fir
—h wred cedar Iebanese cedar 3 wred cedar Iebanese cedar 13— wred cedar Iebanese cedar
1 2. 13 2. 1 13 2.
1 giant sequoia douglas fir giant sequoia douglas fir B giant sequoia =5 douglas fir
2 douglas fir giant sequoia 2 douglas fir giant sequoia 2 douglas fir giant sequoia
alpine fir w red cedar alpine fir w red cedar alpine fir w red cedar
12335 678 90 123345 678 90 123345 678 90
lebanese cedar C T G TAGTCA T lebanese cedar C T G TAGTCAT lebanese cedar CT G TAGTCAT
westernredcedr ACATAGGCCT westernredcedlr ACATAGGCCT westernredcedlr ACATAGGCCT
alpinefir CCGTCGTCAT alpinefir CCGTCGTCAT alpinefir CCGTCGTCAT
giant sequoia ACATATGCCT giant sequoia ACATATGCCT giant sequoia ACATATGCCT
douglasfir CTGTCGTC A G douglasfir CTGTC GTCAG douglasfir CTGTC GTCAG
VVVIVVVIVYV
2 lebanese cedar 5 alpine fi [2 lebanese cedar 5 alpine fi PPP P P P
variable
13— wred cedar Iebanese cedar 1379w red cedar Iebanese cedar I = invariable
P= parsimony informative
L 36 2. 13679 2. P 4
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2 douglas fir

alpine fir

5 douglas fir

6 giant sequoia

wred cedar

giant sequoia

20 douglas fir

alpine fir

56 douglas fir

6 giant sequoia

wred cedar

There are 6 parsimony informative sites. Parsimony
informative sites were incorrectly graded on your work.




